WE,,I;!;,E"EHEI“",EE!S Wellbenders Directional Services Rose 3H
", (]
el Scale 2':100'-MD
936-539-9602 8/9/2018 6:05 PM
Oper. Company: Percussion Petroleum Operating State: New Mexico
Well: Rose 3H County: Eddy
Field: N. Seven Rivers; Glorieta-Yeso Country: United States
Rig: Silver Oak #1 Location: Eddy County
Well ID: 30-015-45114 Start Date: 08/01/2018 12:07:00
Job Number: NMDG2018-1115 End Date: 08/09/2018 04:34:00
Notes: Gamma Ray Logs
Latitude: 32.680508 Elev GL: 3378
Longitude: -104.427371 Elev DF: 17
Elev KB: 3395
Notes: Gamma Ray Logs
Operator 1: Drew Wood Operator 2: Jason Goff
Notes: Gamma Ray Logs
ToolRunData - - .| 'Runi - Run#2 . .- Run#3 Run #4 <="  Run#5..
Tool-SIN' o e 797 636 636
Bit Size 12.25 8.75 85
Cal Factor 1.1266 1.1016 1.1016
Survey Offset 60.00 69.00 70.00
GammaOffset .} 44.00 51.00 52.00
Resisitivity Offset 0.00 0.00 0.00
Start Depth 107.00 1240.00 3256.00
StartDate: . 8/1/2018 8/3/2018 8/4/2018
StartTime .~ % 06:20 04:15 20:45
EndDepth 5k 1240.00 3256.00 8525.00
EndDate 8/2/2018 8/4/2018 8/9/2018
EndTime o 04:26 20:00 03:30
Mud Type. = . .. WBM WBM WEM
‘Mud Weight - , 85 8.5 85
Funnel Viscosity -~ ~ 28 28 28
Plastic Viscosity = - - 1 1 1
Yield:Point 1 1 1
Gel Strength 111 1/1 1/1
Solids Content K 12 14
SandContent Tr Tr Tr
Filtrate-Alkalinity - . ~ 0/0.23 0.54/0.6 0.1/0.54
Chiorides. 7 1000 600 1800
Temperature ’ 106 117 118
L o Hole Data L ) Casing Data ]
7 -Size " 'Erom. . To'.. ~Size _From L To. .. .
20 0.00 107.00 17 0.00 107.00
121/4 107.00 1240.00 95/8 0.00 1240.00
8 3/4 1240.00 3256.00
81/2 3256.00 8525.00
Aflinterp i based on inf from electrical or other measurements and we cannot and do not guarantee the accuracy or correctness
of any lnrerpretahan and we shali not exoepl in the case of gross or willful negligence on aur part, be iable or responsible for any loss, cost
orexp d or d by anyone g from an interprefation made by any of our officers, agents, or employees.
0.00 GR(API) 150.00 MD 0.00 ROP(FT/HR) 500.00 Surveys (MD/INC/AZ)
150.00 2 300.00
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